KX ASSEMBLY SECTION %6 3% 11 BA

L

RERMHTEE |

R i {5 S 1h FE
Electrical modulation signal socket

PCBZ ER iR FH RS (S E £92mm)
HABRER

PCB circuit to build—up welding (
about2mm ) to increase current use

@ CAUTION

Anode

E ok & &
BRaXER BEIEHR
Cathode

4 N\
B kAN AiEeL M2 5%24)

Socket screws

B kAN AigEe 2. 5jo)

Socket screws

|

l
BEkARABHIEZELZL (M3X8) X8
Round six angle screws stage

[ ()

B kM fAAaHIZLL (33, 2XM2. 5X8) X4
Round six angle screws stage

EkANAEMIBLG3. 2XM2. 5X8mm
Round six angle screws stage

(S

Round six angle screws stage

B Sk A 75 A IR £4M2. 5X30mm
Socket screws

E KR AIELEM2. 5X24mm

/ Socket screws

RAED16X445mm i

Carbon fiber tube

EBEE

Vibration reduction set 2
Nut




X4 ASSEMBLY SECTION %A%t BR TAROT ///

EXAAAEMNIELDS 2XM3X8
Round six angle screws stage

@
Bl kA~ RIRZE (M3X8) X4
Socket screw

|

Bl Sk 7~ f AP IR 42 (23, 2XM3 X 8) X 21
Round six angle screws stage

HE $H
Rotary knob

FREBHRT. 6mm
Carbon fiber 1. 6mm

B 3k P < F IR M3 X8/ |
Socket screws

ER#ER

Aluminium column

gz

luminium column

B L A 7S A IR ZM3 X 6mm
Socket button head screw

E[FE KK AR (M3x6mm) x8
Socket button head screw

Bk A7 A MIZL (@3, 2XM2. 5X5) X16

\ e b ol B :
PP =
Round six angle screws stage AT 2 " Round sixangle screws stage
H ! ! e : I
b : B - J—a . Lo
. i T . —rtr ! = i
— g N . HE

P

B4R 6mm - T e I EEH
Carbon fiber plate Fo o . : :

RAED12X315mm
Carbon fiber tube

Tk £F#R1. 6mm
Carbon fiber plate

BRERE

Rubber sleeve

ELAAAEMIBLD3. 2XNM2. 5X5mm
Round six angle screws stage




X4 ASSEMBLY SECTION  4H¥:4BH TAROT /A

} -2

Fold down the accessories-2
E Sk M7 AR (M3X8) X2 EEEE (£)
Socket screws Fixed seat (right)
— [ 3k PO 7% £ & By 48 £4M14 X 30mm
Round six angle screws stage

B kA7~ E M IELE MaX30) 3 BB -1 .
Round six angle screws stage Fold down the accessories-1 X4 EDG25X349mm

The gasket

EEE (£
Fixed seat (left)

Bl LM RIELN3Xs8
Socket screws

The motor seat

Carbon fiber tube

Motor plate

Bl Sk A 75 f 42 2 (M3 X 12) X 4 ¥ '

Socket screw

um -

B kAN AEMIEL (33 2XM3X8) X25 Sl
Round six angle screws stage

FR&FED25X280mm
Carbon fiber tube

B kA AEMIRLG3. 2XN3X8mm
Round six angle screws stage

B3k 17 188 40 2 U3 B ¥

nd six angle screws stage!

i [ 3k 7 75 F R £4M3 X 1 2mm
Socket screws




AKX+ ASSEMBLY SECTION %6 3% i A TAROT

/A

Warning
AA g &

The state intellectual property has been awarded the TAROT model.,Itd five patents. Any units orindividual without
the license holder manufacture . copy . use and sale the product will be patent lawsuit.

ERMIRFNER FTAROTAEGRAFAMR AR AR TR FAEMKMNAREHFEERELFA, HE. HE. £
A, HERFRESEIEE AN RFIL

L F|Spatent number : 2014301541104 % #|Spatent number : 2014302624231

L F)Spatent number : 2014302624585 L F)Spatent number : 2014302624299

% F|Spatent number : 2014302583208

@ Forbidden
= 1k

In any prohibited under the environment of , please do not try to operate aircraft.
EEMBELENKET, BE2SRIBETITH

Warning Please players need to master a certain flight vehicle technology within the scope of operation , to avoid
o unnecessary losses and life safety
EERMELEMFET, B22RBRETITH
£
£
o
©
o




	页 1
	页 2
	页 3
	页 4

